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LGk MXETH & (10°m°/4E) MXETH 4 (10°L/4E) M XETH & (10°L/4F)
1 | EFBEBREFET 360,836,047 K ¥ 193,291| %5 11,854,750
2 |E&m 32,527,817)#REATH 97,228| KHET T 4,771,861
3 |L@AwH 18,316,565| 5 h 65,249 AL R E AR FF 4274416
4 |/hiET 8,888,634 T = F+EB LI/ N ET 24,007 F & AR LU/ HET 3,629,017
5 |AmH 6,027,750| KET T 17,71 7)8R1IUTH 1,220,974
6 |B94 1R 4,659,861 8k LLITH 17,257\ =R&h 926,458
7 |ERETH 4,451,999t & ZEB#X) I 4% 16,377|matc A &)1 L4+ 466,763
8 | Lok AR AR ET 4,420,980)E9 4R T 15,341 FREATH 394,788
9 |EHm 3,263,929 KT 12,586 S {RABEBHL) || ET 243,464
10 [HEFmh 3,181,571| LRANER R EFET 11,461 |#AKTH 233,484
1 |FHm 3,159,442| £ 7K N ERME = HT 8,154| EETH 72,625
12 |8kt 2,968,107| LR AVER E dmET 7,446\ B RH 63,320
13 | 2,538,998 {EATH 6,068|{EATH 57,320
14 |FeATH 2,509,411 | REFHH 3,255| REEHTH 55,629
15 | FEAABERFL) I BT 2,280,655)1& R 2,857) 4L 4% A Ep1EN 4K FH BT 31,500
16 |E#REHEAR T #REHAT 1,727,652 LA 2,768| B4R T 28,631
17 | KETTH 1,018,456k AT 2,099 ER N 18,109
18 |HEF ER SR ET 854,959 T {F AR AR 1| ET 1,911) T 43 A8 2R Bel = BT 13,746
19 |REHH 694,662| T (AR AR AT &5 A1 1,652 TR ARER K EE 4T 13,322
20 | LfRARERE EmHET 605,369 Rt A &R I L4+ 1,559| £ {7 AR &R F dmET 13,052
21 |#REAERE £ RHET 586,240{R A 1,301/ e¥th 11,941
22 | LfRARERRE Edw AT 526,629] L {2 A ERE X HET 1,219 £ R A8 &R R EF BT 11,785
23 |k 430,161)/NegH 1,109 A & BB A = BT 8,498
24 |FHH 420,992 R #HITH 71| LR AR AR R Edw AT 8,376
25 &R 238,372 L {F AR AR R H dm AT 451|Eatk A Ebk A FEET 7,209
26 |iEAT™ 209,246 | 1B %L 27 I 5 BT 440] (R AR ERBAT 5 45 6,757
27 | EKRERIS EET 150,122| T = FH EVEF B R 408| FRABERRBERT 6,681
28 | L{RARERER SHET 121,684t 1& A EREE H iR BT 331|RAREER LT AT 6,572
29 | FEMEEER 73,894| L{FARER = A A 226| L FARER = H A 5,750
30 |[AtREFBEHR 63,722| FHATH 215| FRARER = FRET 3,631
31 |Elm 48,416| L R AR AR ER S BT 203 4iEF:} BB S B ET 3,508
32 |Atik A EBfEN4X HET 30,233| FTEHEASTH 202|8R T 3,426
33 | LEHEEILF 28,668 = ER A HT 1693t 42 A BR%% H R BT 3,424
34 |dbik A EBER IR ET 28,522 AT 167| LK NERERET 3,290
35 | FRAEBBAH 24,963| A EEEBILFZ AT 139 FEHEAR & F 41 3,005
36 | T {RARERBATE AF 24,107 |Fa{k A Bk A FEHT 12| &ah 2,533
37 | FRAER S FRET 22,783 £ K RER/IM I F 82| LKMER/NMIFF 2,284
38 | FRARER &R 17911 | BRAREEFFAERT 78| FHAT 2,221
39 | LRAERE BAT 17,345] T {7 7B &R B~ g BT 7| FEHBERERF 2,146
40 |FEtE AEBIIEF 15215 FRIBERE A HT 57 2,068
41 |RAEBFREN 8,830| FAMBERKEERT 48| FRIBEBB AR 1,987
42 | T {RABEBR RE ET 5,690] £ 7K 4 B &R 445 ET 38| E AR _EAAET 1,449
43 | EKREB/NIF 5,025] L ARABER 114+ 37| LRASER 114+ 1,398
44 |KRSEARSHE 4912 N FBEBRBEF 36 PR EE AR FRAE AT 1,247
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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
45 |dttk A EBILFLET 4,441 KB BB L HART 31| LK AR ER A BT 845
46 | FEHBASTN 3,743) 4t 4 A ER 3L £ BT 29| E {7 AR AR AR & BT 613
47 | L= FHE /N HEET 3511 | FAIBER = FRET 29| REBBREH 418
48 | RS BB LANET 3,350| R E BB EAH 1] Bl8/8 X =1 408
49 [deRZEIIH 3,270 B 1E A ERRE kA | RAEEE B 330
50 |maikAEBiE AFEET 3,013| RS A ST | AR S AR ALEFT 241
51 | F=3+EBLL/ BT 2,959| A5 EBAFEAT 6ldb R A /NAFH 230
52 |maik AER/NiEHET 2,704t R EE /D AFT 6| A S AR P A = HT 184
53 |KREEBEEA S ET 2,432 EEFHE S LA 5|k A EREa At 182
54 |ZREAERIR AT 2413 F 8 h | LEHE =LA 75
55 |t E &Rt FEET 201 |FRFERMEHAB 1|t = E 28t B ET 0
56 |ERIEERE BHA 1,785)t &= E &R ith EHET O| FRMEE EHF 0
57 |REAEERLFZAS 1,757\ FRARERE 4% Of/NEERE AT 0
58 |/ EBEAOET 1,420)7B 3R T o Fa{& A Eh /1N i BT 0
59 |maik A ERE AT 1,311 | A& A BB/ BT O] L& FH AR/ M e ET 0
60 | FEHEE IR 1,084 TR ARER T 5= 4 O FRMERTF A+ 0
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